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QUESTION: 43 
Which one is an additional feature of Cisco IPS Manager Express as compared to Cisco 
IPS Device Manager? 

A. Support for a single IPS device
B. Intuitive user interface
C. More powerful event management
D. Health and performance tools

Answer: C 

QUESTION: 44 

Which statement about Cisco Prime is true?
 

A. It provides simple and efficient management across architectures, networks, and
services.
B. It provides simple and efficient management of security services.
C. It provides management services for all TrustSec products.
D.It is an expert-level monitoring and troubleshooting tool based on Cisco SIO

Answer: A 

QUESTION: 42 
Which two are key advantages of using Cisco ASDM for Cisco ASA device 
management? (Choose two.) 

A. Rapid configuration
B. Powerful diagnostics
C. No need for a console connection
D. Offline monitoring
E. Easy installation

Answer: A, B 
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Which one is an additional feature of Cisco IPS Manager Express as compared to Cisco 
IPS Device Manager? 

A. Support for a single IPS device
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B. Intuitive user interface
C. More powerful event management
D. Health and performance tools

Answer: C 

QUESTION: 44 

Which statement about Cisco Prime is true?
 

A. It provides simple and efficient management across architectures, networks, and
services.
B. It provides simple and efficient management of security services.
C. It provides management services for all TrustSec products.
D. It is an expert-level monitoring and troubleshooting tool based on Cisco SIO.

Answer: A 

QUESTION: 48 

Which option best describes what end users require from a BYOD solution?
 

A. Consistent experience on multiple devices
B. Seamless transition between users
C. Unification of work and workforce
D. Lower organizational costs

Answer: A 

QUESTION: 49 

The Cisco SecureX Architecture is built on which three foundational principles?
 
(Choose three.) 


A. Context-aware policy
B. Virtual office management
C. Network management
D. Content access control
E. Context-aware security enforcement
F. Network and global intelligence

Answer: A, E, F 
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QUESTION: 50 

Which two features are available with Cisco Secure ACS? (Choose two.) 

A. Authorization based on identity and time
B. Guest access services, including user account delivery via print, email, or SMS
C. Authorization based on identity and access type
D. Accounting
E. MAC-based authorization

Answer: A, C 
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